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e SECTION-

3{' 2. Write short answers to any EIGHT (8) questlons (16)
£ ﬁb Why the metals are good conductors? :
' Metals are good conductorsofheat'rherearem _
' reasons for this:
- 1. the close packing of lhe metal ions in the lattice.
2. the ;:ielomlized electrons can carry kinetic energy through
A the lattice .
%What are amphoteric oxides? Give one example. .
Atypoofoxidesshowbothacdcandbasncpmpemes
' are called amphoteric oxides. AL, 0, is an amphoteric oxide.
' % How gypsum is con\mtad l’nto  plastic of paris?
Calcium sulphate occurs in nature as gypsum
~ CaSQ,.2H,0. Mnnhmheatedabovawmc it loses three

(iv) Why potuslumsupcroxldahmdin

e equipments for mountaineers and in space crafts?
el m Potassium super oxide (KO,) has a special use as it can
~+ absorb CO,. Because of this property, it is used in
.+ - equipments of the mountaineers and in the space crafis. It has the.
*_* . ahility to absarb CO, while giving out oxygen at the same time. @~
(v) Give chemical reactions of odbohonc acid with mm i
alcohol and NaOH. e i

i Haaoa*s’CzHSOH““*(csz)zBoa*:’Hzo

e N 4H,ao *2NaOH-—+NazB‘0,+7Hzo
(vi) Whathnmntbyclmnicalgndm? Sy
' MChemicdgudon
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A % Why does aqua regia dissolve gold?
Aqua regia:
When one-volume of concentrated HNO, is mixed with 3
volumes of concentrated HCI, aqua regia Is formed. It is
~employed to dissolve gold and platlnum
- HNO4(conc.) + 3HC/(conc.) —» NOCl(aq) + Cly(9) + 2H, O(I)
' NOCI formed is decomposed giving NO and Cly:"
' 2NOC! ——— 2NO(g) + Cl,(g % o
: This lrberated chlorine gas converts ncﬁale metals such Q8. <y, M
s gold and platinum into their water soluble chlondes o e
.2Au +3Cl, —— 2AUCI, e
- % lee any'two propertles in whlch oxygen ditfers l’rom sulphur

- Oxygen™ .- .- 0fsic Sulphur Fly
SrntA R does  hot react wrth ‘.1.f £ ltreacts with alkali solution
\-alkahes . |. . and forms sulphides and ,
‘ LR SRR hivsulphats.: e
It shows 2 oxida'tidn' 2: It shows oxidation states
state.. Y0 o e0f=2, +2 +4 and 6.7 ',

| %erte note on hydrosphere s
s The hydrosphere ' includes. all" water bodles malnly
~oceans, rivers, streams, lakes; polar rce-caps glaorers and
. * groundwater reservoirs of environment.. - »
| %Why most of the transition elements form coloured compounds?
_ Transition elements have partially filled d orbitals. We
-also know that when electrons jump from one orbital to another.~
- light is emitted due to which the compounds of transatlon ;
i elements seem to be coloured compounds ol | R ki
;{xl) What is.role of chloroﬂuorocarbons in destrbymg .;,}j'g _-
- ozone layer?
" mb Role of Chloroﬂurocarbons (CEFCs) in Destroymg Ozone
.= -Chlorcflubrocarbons used as refrigerants  in- air- -
cond:tromng and in aerosol sprays are inert in the troposphere =
but slowly diffuse into stratosphere, where they are subjected to -
__ultraviolet radiation generating CI' free radicals. Chlorofluoro-
~"""carbons (CFCs) play an effective role |n removmg 03 in the
""stratosphere due to following reacllons L

+ CFBI oy OBl +IBIAe et io 8 o ]
| e ClO+02 A e O
C]O +0 s CI +O :

L ——
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' % Name four compenente of envlrenment
There are four components of environment:
1. Atmosphere 2. Hydrosphere
3. Lithosphere 4, Biosphere

3. Write short answers to any EIGHT (8) queetlons' (16)

* (@ Perchloric acid is considorod as valuablo analytical
reagent. Why?
; . XD Perchloric acid is considerad as valuable fnalytical
4, reagent because it is a powerful oxidizer when hot, but Its
~- aqueous solutions up to approximately 70% by weight at room -
temperature are generally safe, only showlng etrong acld =
features and no oxidizing properties. '
Why iodine has metallic lusters? -
lodine shows excitation of electrons at room temperature
When excited electrons .come back, they .emit radiation of -
- particular wavelength. Due to bigger slze electrons are excited
. at room temperature. So, lodlne Is a metelllc-appeerlng ehlny Y
- grayish-black solid. .
~(iii) Define the following terms, giving one exemple for each
_ (a) Position lsomertsm -(b) Metamerlsm
m Isomerism: ~ - o
S - The concept of isomerism Is en lmportant feeture of iy
'orgenic compounds.
. *Two or more ¢ompounds’ hevlng the same molecular
.. formula but different structural formulas and proparties are. sald -
‘. to-be isomers and the phenomenon Is called isomerism,” .« =~ =
For example, butane molecule can have .two dlfferent
B arrangements as represented by the followlng etructures i

o

IR CH ~CH, - CH CH3 G Sty Ol -..cH';, R
| n-butane NS S Iee-butene Y |

i . W
o Metamensm

G - This is'the type of stiuctural isomerism:- |t arqses due tof_
- the unequal distribution of carbon atoms on either side of the Sk,
. functional group. Such compounds belong «to ' the  ‘same »
- _homologous series. For example, dlethyl ether and methyl-n._.
- propy! ether are metamers. s

-_.CH CH ~0-CH,- CH; CH, 0 CH CH CH

Diethyl etﬁer gt Melhyl "'Pl'OPV' ether
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5 For a ketonjc compound having the molecular formula
CusO the follow{ng two metamers are posslble 4

- I - sy G
- CH, - CH =C= (‘.‘,lfl2 CHa : CHa -C ~ CH, CH2 CHa e
5.5 Dlothvt ketane:-  Methyl n-propylether ©=
' %What are. alloyollo 'organic oompoundl? Give two examples. '
‘ Alicyclic Gompounds.

- - The homocyglic. compounds which contaln a ring of three
. Ormore carbon atgms and resembling allphatlc compounds are. .
called alicyclic: compounds. The saturated alicyclic
‘hydrocarbons- have . the. general formula CpHzn. Typlcal |
examples of ahcyo}l.o compounds are glvan bolow SR T

o On or hydrogen . atoms prosont in '_ those-..;.'?
- oompounda may be aubstltuted by other group or groups
What is Bagysr's test?. - _ e
When alkeneg are treated with mlld oxldnzlng roagant like dilute'
- alkaline KMnO, solution, it is Baeyer's test at low temperature. = =
Use: ltisa toat forpresence of unsaturation in the molecule.
_(vl) Why alkynes are less roaotlvo than alkenes towards
| olootrophulcﬂrolgonu? B At
Alkynes confain two z-bonds are Ioss roaottvo than
. - alkenes towards electrophilic reagents. This is because the '
- - bond distance between the two. triple bonded carbon atoms is ;o
" " very short and hemce the. z-elecirons are not available to be
-7+ attacked by electrophilic reagents; - - s
il)  How will yourgrove that, benzeng has cycllc struotun? i
» WL Molecular fdhmula of benzene CqH s not in relation with 1%
'_:__'ttralght chain hydrocarbons like alkanes C H,m, and alkonos‘-
Jlisies. For -lx carbon c.uu (alkane), ce,u,2 (arkeno), c.n,o (alkynos)
b - This -six carbon oontalnlng alkano. alkene or alkyno has
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~ Conclusion: Thus R is proved that benzene molecular formula
CgHg doms not correspond to stralght chain alkane, alkene or
alkynes, Rather it Is an unsaturated o {01!0 hydrocarbon, '-
- (vil) What ls general pattern o reactivity of benzene
towards electrophlie? : -

> m Meta-directing groups withdraw the electrons of the
_ benzene ring towards themselves, thereby reducing thelr
millbll to the electrophiles. |
~ Define tertiary alkyl halides, give one example,

_ Alky! halides containing mﬂnry C-atom are called torﬂnry
alkyl halides, For example, -

_ cr,
_ Bl | L
s e
L Pnpirt each of the bllowlnq oompoumh h'om tthyl
b magnesium bromide:. "5 |
(a) Propanolc acld = (b) 1-Pmpanul
(a) Propanoic acid: -
cn,—-cﬁ,—*uq—ans-&-o--—»o- <l:. —0 Mg*ar
T TN FI,O

S T A
P
A LR

. (bH-Propanol'
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o, --0H+MK_F

s # 1Propano| (Primary alco‘hol)
(Xl) Absolute alcohol cannot be prepared by fermentation. Why?

g Ansg Actually, lime is often employed asa dehydratlng agentin

. the' preparation of absolute alcohol therefore* it .cannot - be
. - prepared by fermentation process. .

- (xii) How will you dlstmgulsh ethanol from methanol?

; Ethanol gives iodoform with iodine 'in. the presence of
~ NaOH. Formation of yellow. crystals indicate that the alcohol is’

~ ethanol. Methanol does not give iodoform testo v BT RO

C H OH -+ 41 + 6NaOH—> CHI, + HCOONa + 5NaI + 5H O Rt
L lodoform Eo

"CH OH +1 + NaoH — No yellowppt

-Write short answers to any SIX (6) questuons,‘. - _'(12)' 5
o ,abertejour uses of formaldehyde PN e
e Uses of formaldehyde: . - 5 AR L Rl
It is used in processing of anti- pollo vaccme o e L SO

\ e - ltis used in manufacturing of dyes e I *
g G 3 tis used as decolonzmg agent in vat dyelng SR T
( él ~Itis used in. silvering of mirror, . - " - R sl SR

ii) Sl T

s nvert acetone into 2-Propanol el el i

450 'f'c'\'a-,_' A BASLY, CHy. e
i - C=0 T HO0-—ty L CH-OH+[0]: .
3 e ; 2 gk e : - ) 3

ALTa % bt Pnopanone (aoetone) (2'P|'0panol) e
-.ﬂ.jf._;il__j._r_—_;-(m) Wnte the formulas of (a) Glycme (b) Alanme. S
. m (a) Glycme._ p Yo oy
CH GOOH

1, (I3H COOHC]_,_;-'} o
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(w) -What happens when sod:um formate and soda hme |s
heated? :

m When sodwm formate and soda ltme |s heated A e
ST N CL O Na, Soda ime, 4, -, N3200 L
%Gwe four propert:es of enzymes. l T i S e S
Following are the four properties of enzymes. A W
Enzymes are specific in their action which means. that an
~enzyme will act on only one substrate or a group of
- closely related substrates. :
.. -Enzymes with few exceptions are proteln in nature
~ Most enzymatic reactions are reversible. '
~ They catalyze the same reaction but are chemlcally and
. physically distinct from each other. &
(vi) erte down the structure formula of cholesterol

e g Kot L Y I ¥ . A %
B 3 . v : : - P 4 G

H. CH, - CH e

';@na.

=z .CH:\C—-CH.—CH—CH— H—‘CH e e
. ey S Strucheof CholcsteroT e s e
',(vn) G:ve two dlfferences between fats and onls. Rl R

'-The glycendes in whnch' 1 Olls are glycerol esters o
o -_j—long-cham “saturated i"_"_""'fi-’WhICh contam hlgher_l"
vioaeid: “compounds | proportion. - —of .o
predomlnate tend'to be |~ unsaturated fatty aC!dS-'é-'-'-??‘l;i;'?‘.--'""*’””’"
- 5olid or: seml—solld and__ R components e ool

5 are termed as fats.” o e o
2 |ts structural formula xs 2 '.‘-Its structural formula 1s
” % SE "

?H_o..c_(cnz),s—CH (IZH-O-C-(CH2)7—CH CH (CH2)7—0H3,

CH —O-ﬁ—(CHz)w | CH, %‘CH o —CH-CH-(C :"
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vill) Write four qualities of a good fertilizer.

Sl Four important qualities of a good fertllizer are:

SR 1. The nutrient elements present In It, must be raadlly ),
~ 7 avallable to the plant,
<2, It must be fairly soluble In water lo that it thnroughly :

. Mmixes with the soll. _ e
3,7 Itshould not be injurious to pllnt TPt ok
4, Itshould be cheap. .
ix) What do you mean by uttlng of comant?

The use of cement in the construction of bullding s based ‘
.. on lts property of setting to a hard mass when Its pam wﬂh
R -water s nllowod to stand for sometime, - gy

s NOTE Attompt any Three (3 uestions,
'+ Qb.(a) Define Mendeleev's periodic law. Dlscuu “
mlw«:w'o periodic table,

In 1871, Russlan Chemist, Dmitri Mendeleev, gave a mom -
useful and comprehenslve schema for the olasssﬁcaﬂon of %
- elements, He presented the first regular periodic table in which
. elements of similar chemical properties were arranged in eight

~ vertical columns called Groups. The horizontal rows of the table

. 'were called Periods. Mendalsev also started by- arranging the
.. - elements in ascending order of their atomic masses and found that -
o elements having similar chemical properties appeared at régulﬁr SE
"o Intervals. This significant observation was called Periodic Law,
o _.,._\_..__._;;_..-.--|mprovomcntn In Mendeleev's Perlodic Table: : Vi
oo e Inorder to make the periodic table more useful snd aceumta o %
tcw improvements were made in Mendeloev's periodic table. Afler
A --i‘-f-"”thedllcovcry of atomic number by Moseley, in 1911, i was noticed
i:that elements could be classified more uﬂsfaclaﬂty by using their
““atomic numbers, rather than their atomic masses. Hence, the =
T periodic table was improved by arranging the elements in ammg'
o "order of their-atomic numbers instead of their atomic masses, This
7 Timprovement rectified & number of confusions présent in the old =~
,,pododlohbla ‘I'M modom Pcﬁodic uwmmﬂm “‘rrim elﬁmmts o

e ek e
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Another improvement was the addition of an extra group

{group VIIIA) at the extreme right of the perlodio table. This

~_group contains noble gases, which had not been dllcovernd In

 Mendeleev's time.

Another confusion In Mondalaevc fiblo vm thnt

- elements like Be, Mg, Ca, Sr, Ba and 2n, Cd, Hg were placed In
.. @& single vertical group, _whlla according to their properties they
" Dbelonged to two different categories. The same was true for 80

.many other elements placed In the same. vertical, group. In

‘modern pariodic table, the confusion was removed by dividing

the elements in two types of vertical.groups, A and B. In

 modern periodic table, Be, Mg, Ca, Sr:-and: Ba are: placad In

group HA and Zn, Cd, Hg in group IIB.

:_ {b) ‘Describe the commercial preparation of lodlum by Dawn'l :

. cell. What are the advanugu of this procnu? (4)
 Down's Cell: - A :

Raw Material: Molten NaCl

Source of Energy: Electrical enorgy
- Construction: '

.‘_-‘_.

This cell is made up of steel tank It |l llned Inside wlth ! 5

aﬁd resisting material. Two rods of iron afe introduced Into tha
" tank through the side walls. These iron rods dct-as cathode,

o "by the resistance of the cell. The m%ltlng polnt of
. pm' is decreased up to 600°C by adding CaCl,. o

‘The anode is made up of graphite. It I introduced to the

~ bottom of the tank at the top end. This-upper thicker part of the
_anode is covered by a sheet iron hood.~A"wire: gauze is°
‘suspended from this hood. This wire gauza upmtas the
camodeandanoderaglonlnceu e B

- Procedure:

Nt 16 mekad. ft s Kept in the mollen_state bptefiest

“The anode and cathode are immersed in tho molton

m Powdered solid NaCl is sprinkled on the upper surfaceof <=

- the melt. This will protect the molten mass from, tha eﬂ’em bf i
S @ 4 cne

hmrmmmmamthroduced G i LR,
lofmm Nacl == —_— Nl

 Acaos mo,,,z,e iy 2Na(mml) (o SR

B A
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ﬂ{pﬁmm | (rv} KziptClJ

il

c'-

e T ¥ Sodde Haa?m cabam ﬂfﬁ o
" {bjm ‘acid rain? How does it aﬁ’ect me
- environment? N b (4}

R @mm ofponutaa Airon Env:ronment =

o B mm nowadzys :stamed as acd deposition, was -
W by Angis Smith in Greal Britein in the mid-sevenieenth
ez j-ngﬁp&mwm%em
awmﬁgﬁsnm%%ﬁs Infitally, itwasreferredtothe
. PrRCipizion which was more acdic than natural rain. Due to the

dmzﬁmmm,&emmemm

*H:O ""'—"'Hz
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P 20% gasoline. Due 10 its high demand, this supply is augmented by |
- converting surplus supplies of less desirable petroleum fractions

" eruption, there is temporary acid rain.

- aluminium, mercury, lead and calcium and discharges them into
- water bodies. These heavy metals are accumulated in the

e '. both alkanes and alkenes: The composatson of the

~ The pH of unpolluted rain water should be 5.6, The _ |

: ramwater has pH less than § is considered truly acidic.

™ the atmosphere, SO, and NO, are lransformed by -
reachons with oxygen and water into H ,50, and HNO,,

respectively, These acids get mixed with rain. The acud deposition -
mc%udesboth wet (rain, snow, fog) and dry acidic deposition, |

SO *1]20 +H. O(hydmcarbon smoke, n%‘h!mf‘ ng SO
~~In some countries, due to release of HCI by volcanlc

Aadlﬁcatlon of the soil and rocks can leach melals Ilke

fishes and are health hazards for humans and birds as they eat
these fishes. The elevated concentration of aluminium is

. harmful for fish as it clogs the gills thus causing suffocation.

" Acidification of the soil can also leach nutrients thus damaging
leaves and plants and growth of forest. It also damages building
materials such as steel, paint, plastic, cement, masonry work
- and sculptural materials, especially of marble and limestone.

Q & {a) Define cracking and explain its type with examples (4)

‘Cracking of Petroleum: : i
The fractional distillation of petroleum ylelds only about

P s

such as kerosene oil and gas oil into gasoline by a process called |

~ cracking. It is defined as breaking of higher hydrocarbons having :
7. high boiling points into a variety of lower hydrocarbons, which arg =~
. more volatile (low boiling). For example, a higher hydrocarbons, Xt

C,GHu splits aocordmg to the followmg neaction

Heat :

~ This is the process in whlch C»C honds in long chain
~ alkane molecules are broken, producing smaller molecules ,ot ;

cradmg is genera!ly canicd out in the followmg ways &
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_1 Thermal Cracking:

Breaking down of large molectles by heatrng at high temperature S
and pressure is called Thermal Cracking. It is particularly useful in the

production of unsaturated hydrocarbons such as ethane and propene

| - 2. Catalytic Cracking: o
| Higher hydrocarbons can be cracked at Tower temperature (500°C) |

and lower pressure (2 atm), in the presence of a suitable catalyst. A typical
* calalyst used for this purpose is a mixture of silica (Si0,) and alumina

- (ALO,). Catalytic cracrrng produces gasoline of higher octane number and,

ﬁrer ore, this method is used for obtaining better quality gasolme
_3 Steam Cracking:

Cache
o i e
iyl £ R
s e Y

’ B i R T
v -.-_' MR

In this process, higher hydrocarbons in the vapour phase pia

are mixed with steain, heated for a short duration to about

- 800°C and cooled raprdly The process is suitable for obtarnmg :

lower unsaturated h ydrocarbons

. Besides increasing the yield of gasoline, cracklng has also

produced large amount$ of useful, by-products, such -as ethene,
- propene, butene and benzene; These are used for manufactunng, e
~ drugs, plastics, detergents, synthetic fibres, fertilizers, weed krllers g

- and important chemicals like ethanol, phenol and acetone,

T T T ;

(b) Write reactions of the Grignard reagent with the followmg (4)
(i) Water- - (ii) Ammonia - i
(rii) CO, e ~ (iv) Alcohol e

m OWater: - N o
C!L-- CH,-—Mg' Br’” + H"—- o"H——-—, CH CH, + M/ S
me&mrc i W Y e W NH i
(m Ammonla. e | =8

,OH ¢
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(iv) Alcohols:

 CH—Cli—Mg'— % +CH—CH—0—1 ﬂ"f—,cn,—-_ CHy+ Mg
b e 4 - | 13 ocn.cu. L
Q 8. (a) How w:ll you make the followmg conversions from
. “analkene: ' (4)
oty (i) 2-Bromopiopane - ° (ii) 2-Bromo-2-methylpropane
i (ifi} 2-propanol = -~ (iv) Propylene oxide

i (i) 2-Bromopropane N A
GE R T e H3C--CH2'-'-*CH2 ST
. .. HC GH CH +HBr—-—+1amcpropane(na:fonned)

9
g% e _ - Br
ARt S 2 UE e e e 3 SIAN A ZBrmnopmpam(Adua!Pfodud)
(i) 2-Bromo-2-methylpropane . : .
O e CH +HBr s H,C—CH~CH, . .
P 5 _ ‘I-Bromo-z-molh)‘lp'mm (not fonned)
PRt et LOR t Lg CR e --r__isc_—-- C -éCHa

.
y
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- (iv) Propylene ox:de . . -
_ Ay _ R
HC CH CH +;0 —cl--a»HC——-CH CH. .o

-300°C .- \/

o Pro;lylene Oxld-e -
. AR Def‘ ine and _ explam aldol ‘condensation  with reactuonf
.~ mechanism. Why formaldehyde does not give this reactlon? (4)

LEB Aidol Condensation: _ e
Aldehydes’ and. ketones possessmg a-hydrogen atoms .o
* areact with a cold ‘dilute solution of an-alkali to_form addition %
‘products known as_ aldols. The name ‘aldol’ is glven to-the' "y
- product because it contains both - a!dchyde and alcohel =~
- functional groups.- Note that the name aldol condensation - is
_reserved for the reaction that starts with two identical carbonyl.
compounds. Two molecules of the same carbonyl compound
: condense to form an aldol

3 * - - e A g
i : I T 3 LR Chohi g

perdgitii ol e il NaOH NaOH - I b

v CH3'—'.(I:+H_-CH2 Cx H-;-———-—CH —CHL CH -C-H,

T E!hanal_ Ethana! e W 3 Hydroxybutana| (aldol) 3

S e 0 i L g o OH o B
7S [l "dil. NaOH * |

CH —CH (|3+H—(|3H G H;—ﬁcH -—CH -—CH CH C—H, i

,p‘f’ba"al ey e 3-Hydroxy-2-methypentana| (aldol)

i Ba(OH) ?H 'ﬁ‘ %

= CHa"' [ : +H-C_H "C“CHax-———-—-CH - <|3 | ~CH,-C-CH; 8

|
ofie
o
|
-k
i
.
+ il
st
s

R

r-.ﬁ:pmpanone PED Propanone o 4Hydroxy-4-methyl«2 pentanor:—

The aldol compound readily loses water on heating in the presence
ofm acid to form an unsaturated carbonyl compound. A carbon-carbon s
fes ‘double bond is formed between the a-and B—carbon atoms ' "‘

OH
S II MAHCL oL i :
; CH -CH—CH -C—H—-I—-——>CH —CH-—CH g-H*’H O

ke eﬂydrovautanal R Cwm'dehvde 2 55"-‘ ;

i i a2 5o
; : _A
e
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Mechamsm of Aldol Condensation:

- The hydroxide ion acts as a base. It removes a proton
from a-carbon of one molecule of the carbonyl oompound to-
form a oarbamon : ‘

faiae e 16
0o

Hydtoxxde:on Ethanal . : Cotbanion =~ -
The carbanion acts as a nucleophlle It attacks the S

 electrophilic carbonyl carbon atom of the unchanged second
molecule to form an alkoxide ion. e e

S _ s |
g QA £ - 0

| Il\(‘\ oL | 1 I H
- CH, - (.H+(,H C-—!l;“-——-—;-"CH - Cll CHy= G ~Hr oo o
Sk Elhanal =i+ Carbanlon: - . ' - An alkoxide ion

The alkoxide ion removes a proton from water to form aldol
2 (l? : i OH - :

P TR ] PR E T
f'CH - CH-CH, - H + H-OH - CH CH-CH -C-H + OH

}contmuous sheath'.of electron cloud; enveloping, above ‘and
- below, the six carbon-carbon sigma bonds of the ring. Since
-+ each 2pz orbttal is overlappad by the 2p orbntals of adjacent

Alkoxide ion 2 i &Hydrbwbutanal (aldol)
The basic catalyst hydroxnde ion is regenerated. -

'i{QQ(a) ‘Explain structure of bonzeno by atomic orbltal

treatment. = s S (4).

ﬂiB Modern Concepts About the Structure of Benzeno e
Atomit Orbital Treatment of Benzene: Bl R

The hexagonal framework of - benzene . can: be |

e conveniently explained using hybridization approach, Accordmg
"2 o this; each carbon-in benzene is sp? hybridized. The three sp?: -

.'f_-\'_..hybnd orbitals on each"carbon are- utlllzed to form: three .o~
~bonds, two with adjacent carbon atoms and’, ‘one with hydrogen

The unhybndlzed 2pz orbitals remain at nght angle to these sr:\2
- orbitals. Since all the sp? orbitals’ are in the same. plane,
“therefore, all the: carbon and hydrogen atoms are: ‘coplanar. All .

.. the angles .are of 120° which conf irms the regular: hexagonal
- structure of benzene.

The unhybndnzed 2Pz orbntals pamally overlap to fofm

: : ot .. -
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_carbon atoms, therefore, this overlapplng gwes ' ‘dlffused‘ of i
‘delocalized’ electron cloud.

(b) Howdoes othyl alcohol react with following reagents (4)
(i) Conc.H 80 2 (ii) Na :

- .;ﬂ_m(i) Conc.H,S0, = | '
' Foretherformauon NN ;
 2CH;~CH —0}-' — c‘\CH —CHy o—fcuécH;r_quj_; '
A For ethena fotrnatlon , A i
2CH, -—CH ——OH——ACH CH +H o
: : 180C ‘
(ii)Na ot GEa v L
- 2CH—CH,— 0H+2Na—-——>20H CH -—--ONa +H
(lii)CH COOH A f. e
P AR e C? Iy 0; S
S R OH; ——CH -—0H+CH —C—OH—-»CH —c—oc Hg +H 0
e (w) som ' il
- CHy ——CH 0H+SOCI i-'y-"f--:» CH —CH —01 + so2 + HCI

H
i

d

b |
j

b |
1
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